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AP & GP work sheet – I 
 

1. Find x, y and z given that the numbers x, 10, y, 24, z are in A.P 
x, 10, y, 24, z vd;git xU $l;Lj; njhlu;tupirapy; cs;sd vdpy;> x, y, z 
Mfpatw;wpd; kjpg;G fhz;f.  
a. 6, 12, 27  b. 4, 16, 30  c. 3, 17, 31  d. 5, 18, 31  

 
2. In a theatre, there are 20 seats in the front row and 30 rows were allotted.  Each 

successive row contains two additional seats than its front row.  How many 
seats are there in the last row? 
xU rpdpkh muq;fpd; Kjy; tupirapy; 20 ,Uf;iffSk; nkhj;jk; 30 
tupirfSk; cs;sd.  mLj;jLj;j xt;nthU tupirapYk; mjw;F Ke;ija 
tupiriatpl ,uz;L ,Uf;iffs; $Ljyhf cs;sd.  filrp tupirapy; 
vj;jid ,Uf;iffs; ,Uf;Fk;? 
a. 74  b. 78   c. 80   d. 76 
 

3. If nine times nineth term is equal to the fifteen times fifteenth term, six times of 
twenty fourth term is. 
xU $l;Lj; njhlu;tupirapd; xd;gjhtJ cWg;gpd; xd;gJ klq;Fk;> 
gjpide;jhtJ cWg;gpd; gjpide;J klq;Fk; rkk; vdpy; ,Ugj;J ehd;fhtJ 
cWg;gpd; MW klq;F. 
a. 24  b. 15   c. 9   d. 0 

 
4. Find the sum of the following 6 + 13 + 20 + … + 97 

gpd;tUtdtw;wpd; $Ljy; fhz;f. 6 + 13 + 20 + … + 97 
a. 103  b. 498   c. 641   d. 721 

 
5. How many consecutive odd integers beginning with 5 will sum to 480? 

5-ypUe;J njhlq;fp vj;jid njhlu;r;rpahd xw;iw KOf;fisf; $l;bdhy; 
$Ljy;  480 fpilf;Fk;? 
a. 21   b. 19   c. 22  d. 20  

 
6. If a, b, c, l, m are in A.P, then the value of a - 4b + 6c - 4l + m is 

a, b, c, l, m  vd;gd $l;Lj; njhlh;thpirapy; ,Ug;gpd; a - 4b + 6c - 4l + m =  
a. 1  b. 2   c. 3   d. 0 
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7. Find the middle term (s) of an A.P 9, 15, 21, 27, .... 183.  
gpd;tUk; $l;Lj; njhlhpy; cs;s eLcWg;Gisf; fhz;f. 9, 15, 21, 27, .... 183 
a. 93, 99   b. 87, 93  c. 99, 105  d. 81, 87  

 

8. Find the rational form of the number 0.123. 

0.123 vd;w vz;zpd; tpfpjKW tbtk; fhz;f. 

a. 
41

330
  b. 

123

329
  c. 

41

333
  d. 

123

301
 

 
9. Find the number of terms in the following G.P. 

gpd;tUk; ngUf;Fj; njhlu;tupirapy; cs;s cWg;Gfspd; vz;zpf;ifiaf; 

fhz;f. 
1 1 1 1

, , ,...
3 9 27 2187  

a. 6  b. 8   c. 7   d. 5  
 

10. Find the sum of first six terms of the G.P. 5, 15, 45, … 
5, 15, 45, … vd;w ngUf;Fj; njhlu; tupirapd; Kjy; 6-cWg;Gfspd; $Ljy; 
fhz;f. 
a. 3,640  b. 2,620  c. 1,930  d. 1,820 

 
11. Find the sum of the following series 

gpd;tUk; njhlu;fspd; $Ljiyf; fhz;f. 51 + 52 + 53 +…+ 92 
a. 2973  b. 248   c. 1,763  d. 3,003 

 
12. Find the sum of the following series 

gpd;tUk; njhlu;fspd; $Ljiyf; fhz;f. 1 + 4 + 9 + 16 +…+ 225 
a. 2,000  b. 3,256  c. 1,240  d. 3,636 

 
13. Find the sum of the following series 

gpd;tUk; njhlu;fspd; $Ljiyf; fhz;f. 1 + 3 + 5 +…+ 71 
a. 1,225  b. 1,296  c. 1,156  d. 1,444 

 
14. In a G.P 729, 243, 81 .... find t7 

gpd;tUk; ngUf;F njhlh; thpirapd; 7tJ cWg;ig fhz;f. 729, 243, 81... 

a. 1  b. 3  c. 2  d. 
1

3
 

 
15. If 1 + 2 + 3 +…+ k = 325 then find 3 3 3 31 2 3 ... k    . 

1 + 2 + 3 +…+ k = 325 vdpy; 3 3 3 31 2 3 ... k    -d; kjpg;G fhz;f. 
a. 105625  b. 34328125  c. 975  d. none of these  

 
16. Find the sum of 2+ 4 + 6 +…+ 80  

$Ljy; fhz;f. 2+ 4 + 6 +…+ 80  
a. 1,420   b. 1,640  c. 1760  d. 1,800  
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17. How many terms are in the series -11, -15, -19............ -83.  
-11, -15, -19............ -83 ,j;njhlhpy; vj;jid cWg;Gfs; cs;sd? 
a. 20   b. 21   c. 19   d. 18  
 

18. Find the 10th term of a G.P. whose 8th term is 768 and the common ratio is 2. 
xU ngUf;Fj; njhlu; tupirapd; 8-tJ cWg;G 768 kw;Wk; nghJ tpfpjk; 2 
vdpy;> mjd; 10-tJ cWg;igf; fhz;f. 
a. 4,028   b. 3,072  c. 6,124  d. 3,112  

 

19. Find the number of terms in the A.P 3, 6, 9, 12, .... 111 ?  
3, 6, 9, 12, .... 111 vd;w $l;Lnjhlh; thpirapy; vj;jid cWg;Gfs; 

mike;Js;sd?  
a. 36           b. 37   c. 41          d. 39 
 

20. The ratio of 6th and 8th term of an A.P is 7 : 9.  Find the ratio of 9th term to 13th 
term. 
xU $l;Lj; njhlu;tupirapd; 6-tJ kw;Wk; 8-tJ cWg;Gfspd; tpfpjk; 7 : 9 
vdpy;> 9tJ kw;Wk; 13-tJ cWg;Gfspd; tpfpjk; fhz;f. 
a. 8 : 13  b. 11 : 14  c. 8 : 12  d. 5 : 7  
Solution: 

Given: 6

8

t

t
 = 

7

9
 

    
5

7

a d

a d




 = 

7

9
 

                      9(a + 5d) = 7(a + 7d) 
           a = 2d 

  Now, 9

13

t

t
 = 

8

12

a d

a d




 = 

2 8

2 12

d d

d d




 = 

5

7
 

        9t  : 13t  = 5 : 7  

 

21. In an A.P. the sum of first n terms is 
25 3

2 2

n n
 .  Find the 17th term.  

xU $l;Lj; njhlu;tupirapy; Kjy; n cWg;Gfspd; $Ljy; 
25 3

2 2

n n
  vdpy;> 17-

tJ cWg;igf; fhz;f. 
a. 84  b. 78   c. 96   d. 80  
Solution: 

  nS  = 
25

2

n
+

3

2

n
 =  21

5 3
2

n n  

Replacing n by (n – 1), we get 

          1nS   =     21
5 1 3 1

2
n n    =  21

5 7 2
2

n n   

   nT  = 1n nS S    
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        =  2 21
5 3 5 7 2

2
n n n n      

        =  
1

10 2
2

n  = 5n – 1    → (i) 

 Put n = 17 in (i) we get, 
         17T  = 5 (17) – 1 = 84 

 
22. Find the sum of all natural numbers between 300 and 600 which are divisible 

by 7. 
300- f;Fk; 600 -f;Fk; ,ilNa 7 My; tFgLk; midj;J ,ay; vz;fspd; 
$Ljy; fhz;f. 
a. 18,264  b. 17,264  c. 19,264  d. 20,264  

    Solution: 
  From 301 to 599 
  301 = 743 + 0 
  599 = 785 + 4 

    85 – 42 = 43 terms 
 The series 301, …, 595 

  nS  =  
2

n
a l  

       =  
43

301 595
2

  

       = 19, 264 
 

23. An A.P consists of 31 terms. If its 16th term is m, then the sum of all the terms of 
this A.P. is 
xU $l;Lj; njhlu;tupirapy; 31 cWg;Gfs; cs;sd.  mjd; 16-tJ cWg;G m 
vdpy;> me;jf; $l;Lj; njhlu;tupirapy;; cs;s vy;yh cWg;Gfspd; $Ljy;. 

a. 16m   b. 62m   c. 31m   d. 
31

2
m 

    Solution: 

16t  = m 

31S  =  
31

2 30
2

a    

      =  
31

2( 15)
2

a       

      = 31( 16t )    (  16t  = 15a d ) 

      = 31 m 
 

24. Find the sum 
3 2 5 3

...to 12 terms
a b a b a b

a b a b a b

   
      

. 

$Wjy; fhz;f. 
3 2 5 3

12 
a b a b a b

a b a b a b

   
      

cWg;Gfs; tiu 
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a. 
6

(4 13 )a b
a b




   b. 
6

(24 13 )a b
a b




 

c. 
12

(2 13 )a b
a b




   d. 
6

(4 13 )a b
a b




 

Solution: 

  a = 
a b

a b




,  d = 

3 2a b

a b




 - 

a b

a b




 = 

2a b

a b




 

         nS  =  2 ( 1)
2

n
a n d   

        12S  = 
12 2

2 11
2

a b a b

a b a b

      
    

     
 

              =  
6

24 13a b
a b


  

 

25. Find the sum 3 + 1 + 
1

3
+ …∞ 

3 + 1 + 
1

3
+ …∞ vd;w njhlupd; $Ljy; fhz;f. 

a. 
3

2
  b. 

4

3
  c. 

9

2
  d. 

1
2

2
 

    Solution: 

  
1

3 1 ...
3

     = 
2

1 1
3 1 ...

3 3

 
    

 
  here, a= 1 and r = 

1

3
 

       = 
1

3
11

3

 
 
 
 

   ( S  = 
1

a

r
 )  

       = 
3

3
2

 
 
 

 = 
9

2  
 

26. The houses of a street are numbered from 1 to 49.  Senthil’s house is numbered 
such that the sum of numbers of the houses prior to Senthil’s house is equal to 
the sum of numbers of the houses following Senthil’s house.  Find Senthil’s 
house number?  
xU njUtpYs;s tPLfSf;F 1 Kjy; 49 tiu njhlu;r;rpahff; fjtpyf;fk; 
toq;fg;gl;Ls;sJ.  nre;jpypd; tPl;bw;F Kd;djhf cs;s tPLfspd; 
fjtpyf;fq;fspd; $l;Lj; njhifahdJ nre;jpypd; tPl;bw;Fg; gpd;djhf cs;s 
tPLfspd; fjtpyf;fq;fspd; $l;lj;njhiff;Fr; rkk; vdpy; nre;jpypd; tPl;Lf; 
fjtpyf;fj;ijf; fhz;f. 
a. 35   b. 45   c. 49  d. 25 . 
Solution: 

Sum of the numbers of  
houses preceding x = Sum of the number of houses following x 

              1xS   = 49S  - xS  

 Sum of first n natural numbers nS  = 
( 1)

2

n n
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( 1)( 1 1)

2

x x  
 = 

49(50)

2
 - 

( 1)

2

x x 
 

       
1

( 1)
2

x x   =  
1

2450 ( 1)
2

x x   

     x(x-1) = 2450 – x(x+1) 
            x2 – x = 2450 - x2 – x 
            x2 = 1225 

 x = - 35 or 35 
  Since, number of houses cannot be negative. 
           x = 35 
 

A.P & G.P work sheet – I Answer Key  
 

1 2 3 4 5 6 7 8 9 10 

C B D D D D A C C D 

11 12 13 14 15 16 17 18 19 20 

D C B A A B C B B D 

21 22 23 24 25 26 27 28 29 30 

A C C B C A     

 


